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2. RBEGESE Raftsbshg B ¢
S=15+5%*P D=45-5%*pP
B E Kbt B
S* = 50+20*P, D" = 90—-20%P
ARBESHRAEBEL T HFH R EELAF? ARG S K9
(25%)

3. AMARTHERGABAE —HaMROGR? (15%) BRFHE RS
BATE—FEAM R BR? (10%) EAME A EMERRLFRE 2

4. EREREDL PEFMEEESE
The problem of unemployment is usefully divided into two categories; the
long-run problem and the short-run problem. The economy’s natural rate of
unemployment refers to the amount of unemployment that the economy normally
experiences. Cyclical unemployment refers to the year-to-year fluctuations in
unemployment around its natural rate, and it is closely associated with the
short-run ups and downs of economic activity. (25%)

[(E1R-#%1H]




